272

AQ2, ADQ2 Al2|=

10 —
==
T —

CH L& Type

U MBI (A E) : ERY/2S.HEE

o ISZHES dElH
o ZUESIIA[EAPY}IKs

©® AMZRE LS| A8 2 ARSI

EANY|IE

I
Wil

e
Hu
[n

LA - @12, @16, @20, @25, @32, B340, @50, @63, @80, B100
@125, @140, @160, @180, @200 (0.308 &X)

1] QEAQIR| B2
Iz 712Y
D : QEALIX| BEHXIAMLIE)

i
o

N

oo 4

=
B

A:
D

F:
G:
L:

N
ne
I Iy

it
=

|>
<

T

[}

i
@

kD
In

2
i
FH

@12~251t0|2| &

w40

FELZE
12:12mm 40 : 40mm
16 : 16mm 50 : 50mm
20 : 20mm 63 : 63mm
25:25mm 80 : 80mm
32 :32mm 100 : 100mm

% i1 Type (p.308 & x)

[4] M2 ZZHFE(mm)
12,16 : 5,10,15,20,25,30
20,25 : 5,10,15,20,25,30,35,40,45,50
32,40 : 5, 10, 15, 20, 25, 30, 35, 40, 45,
50, 75, 100
50~100 : 10,15,20,25,30,35,40,45,50,75,
100
¥ @16 E=SF (40, 50)0|42 p.295 Long
Stroke &Z=

BI1&  HEH(ZE B LAY
C :RUBBER 3M g3t

M 2ETBEE LA

F alEx Q=2 23t
I 1A 42 ZQIE (RE B LAY
Y 23 X0IE (2E B LA

X B Alel TeIts
(CM, CF, CI, CF, CFI, CFY, etc))
% 012, 0162 22 F Hel

X1, Ye 0|=8 &5t

Alg|=
2715 5ETY
XC16 : sA4=27td
% 012~0409] 42 SAE7IE0| 7|29,

QEAQ|X|S| EF
2715 QEARIR| glg
R Q&A%
A73K : D-A73K (@32~0100)
WB8H(V) : Z48 QLEAQ|R|
SET)Y, 244
2 QEAQIR|
WOH(V) : ZA8 QEAL|X|
SE(E)Y, 244
WOHV)N : ZA8 QEAL|X|
SH(SE)Y, 3014
W2P(L) : @40~@100
W10V : ZAH QEALR|X| £
W20H : 248 QEARQ|X| £
(2MIA|)

ogr gt

M
;i

Ll

et

% ) QEASIX| MEAEE p.840 EE
% 2|24 0|7} 3me| o= Zeizo
SESEN
0f)A73KL - D-A73KL
% 224 20|7} 5me] Ao HE 2o
dreLict

QI RQEALIX| F£7|&
2I|& ;27 B
S 1 EE

=
=
n 7 23

[tem Number of Mounting

FEUE Foot Flange 244 Clevis
(mm) -4 Y-4H4Z | Z/EPin
12 AQL-012 | AQF—012 | AQD—012
Ql-012 Qvy—012 QP—-012
16 AQL—016 | AQF—016 | AQD—016
QI-016 QY—-016 QP-012
20 AQL—020 | AQF—020 | AQD—020
QI—020 QY—020 QP—020
o5 AQL—025 | AQF—025 | AQD—025
QI—025 QY—025 QP—025

32 QL—032 QF—032 QD—032
QlI—032 QY—032 QP—032

40 QL—040 QF—040 QD—040
QI—032 QY—032 QP—032

50 QL—050 QF—050 QD—050
QI-050 QY—050 QP—050

63 QL—063 QF—063 QD—063
QI—050 QY—050 QP—050

80 QL—080 QF—080 QD—080
QI—080 QY—080 QP—-080

100 QL—100 QF—100 QD—100
QI—100 QY—100 QP—100
# EE 27 224 M2IC EAY FE 37 2FAS FE5I0| FHAI

FolAre

BEYY
A

i

of

X S| HF

H2IC{0)| AHOIME FE o= A

SmmSE] Imm S7HRIE HEo| 7kseit(ct,
1) AQ2B12-27D= E& A2l

AQ2B12-30D2| {50l 3mm =
AHO|MES &3

0ll2) AQ2B12-29D= E& AElH
AQ2B12-50D2| LHE0] 21mm =

AHO|ME HYEL.



zzs/zs-dzc AQ2, ADQ2 Al2[=

B HZEE FoArE & Al TCP1
M e e, RS FEAE 8 £ =2 12[16]2025] 3240 50]63]80[100 | APM
== &Hlory —
= . |EE7EF O[O]O|0]0]0]0]0]0]0
T g [Olo]o]olololololo]o | TeM
SIS o[ololololololololo
27/ (i | LAISE|  M5X0.8 5% we| RelPT)ifd [RePTa8 | TCM2
= o zezoalit (OlOJofololo]ofolo]o
0 =2 BMEE 22 |0|0]0]0|0]0[0[0]0]O |ARD
Ath2|o| XHEL IESQAZ A |- |- |O|O]O|O|O|O]O|O
—Hem = (1) QEAYR|7} g B, SHHOHM5X0.8 YL/ AM2
@ FRMEIELS MOISHZ210|0{(CH AHY 2ol #2537 E
ALE310 FHA2. EZALQ TCA2
St = & H L = S Al TI|0HEIO)E: TCS1
® It Z200(CH AY Y PATTE ABAIE g 4 SRS 1632
Z210[0f(CH AW & SP)e| BHRER AW 2ol S AL = A s |
EEK}I o|7-(_"|;|_c| _;a'c__?_ 7|7|0ﬂ ggH EEE E}-_jll_\_% %3 |5'\_ I i 1.5MPa(15.3kgf/cm2) TCQ2
x| 202 2
QIOL| BIA| Z=O|SHAIA|D. FESH EAA| ALK 20| EHAIE 21 AEYUH 1.0MPa (9.9kgf/cm?)
o OOI: E|°§Té|le Fo T EilulA - F99 A8 oA 2k 5C ~70C (S20/¢f2%) | ADQ2CP
HEZHU=XE =0l <, 5718 35510 FTHAL. ZCICELAZA KS 22 L
I #azolol st8xt i Az
g % NE IAE &5 50 ~ 500 mm/s —_—
. e HH M o 2 AQ3
® FStE O ‘-E" o, EPEAI_%EPEBI IAE 2= 2H EEETn oL LF AT
ZRE THSIILM BHSHAL, = = 35 72 TcK1
® S5130| IAE 28 BT DHAF|X SO IAE  EETpTE—y . [ACKI
ZEO| HZR(LAFHIZ )7 224 o FOUHIAIL. B
E e 1y A [12]16]20][25]32]40][50][63]80[100 |ABKZ
S71e(@37)8][007]007]005[0.05]0.05] 0.05[0.05]0.06[0.06[0.05 [ o
== (9l g) = =2n (=L | TGO
T NEIH B (mm) =S (mm) | 12 ] 16 | 20 | 25 | 32 ] 40] 50 | 63 | 80 |100 Nggww
(mm) | 51015205303 |40]45]5]7n5]10 SROIHENS | 1 | 2 | 6 | 7| 7| 6|7 1731|488 ———
2 0|76 |@|B|-]-]-]-]-]- 2o [ALAN=[ 15| 3 | 6 |12 | 26| 27| 53 | 53 |120[175 ;gMz
6 |6 |2 |w|w |- -]-1-]-]- AU [HE [ 1 2] 4 81717332416
CE R AR EIEREIE IR JE=o= 25 07(13] 2 |3 | 5| 71325 |45 9% |APR
25 | 118 19 [ 160 | 161 |26 | 24 |25 | %6 |7 || - | - A FEEE [ 1 [ 2|5 |4 |-3] -7|-9]-18/-31]-5
32 157 | 10| 20 |25 |8 | 20 |2 | 36| 39 | |52 | 6% TCRL
40 | | |36 | 3% | %0 | % ||| e AN
o | oisnialalalsoml2ie  uoan o
e J|==ak: —
80| - || 50 |1g2h 1704 o | 109 185 |20 |2 26 36 @ ;'“30 AQ2B20 29D 1529 AMRBR
.%FggEé_?_E‘FOOI:E}%I%dGQ
100 | - (2008|2314 240 [2526] 263 [ 2738 | 2844 | 2950 | 3086 | 3801 | 4318 iSEb e
X 2AER3 A2|XE p.2g5 AE E—EB"'I_'W"""""'""109 NEP
BT RA g [NBP
e i 173g ADR
QLEARX REZH EEEH
cergA el | TAN a7 Ed EEEEnE Ast
BQ-1 12~25
VRIS BQ—2 32~200 NDC
NDM
273

www. TPCpage.co.kr



AQ2, ADQ2 Al2|=

FELH Ruys A2e1= (MPa)
(mm) ece 0.3 05 0.7
1 IN 25 42 59
ouT 34 57 79
16 IN 45 75 106
ouT 60 101 141
% IN 7 118 165
ouT % 157 220
o5 IN 113 189 264
ouT 147 245 344
- IN 181 302 422
ouT 241 402 563
IN 317 528 739
RCTCHALIA =S Qlz Ba 40 ouT 377 628 880
- IN 495 825 1150
ouT 589 932 1370
W2 LIST/RE2E/27|H 222 6 SANEE N 1 T L
o] & § [38] A 3§ 2 &0 U )
1 ROD COVER 1 LZ0|E SE | A ALUMITE 100 N 2140 3570 5000
2 | CYLINDERTUBE | 1 UZ0|E B3 ouT 2360 3930 5500
3 PISTON 1 UZ0|g o3 1N = 0.102kgf
4 END PLATE 1 U0 EE | UM ALUMITE 1MPa = 10.2kgf/cm?
5 GASKET 1 NBR
6 | PISTONPACKING | 1 NBR
7 ROD PACKING 1 NBR
8—1 PISTON ROD 1| AsR|AZHERAZY | 2HAAFTYPE
8-2 | PISTONROD 1| ABBAZEAZ) | SLAFTYPE
9 ROD END NUT 1 z O =2
10 SNAP RING 1 Amgizt WE==
1 MAGNET 1 | NBR+Ba Ferrite
12 BUMPER “A” 1 | POLYURETHANE | 2EHHZ A=
13 BUMPER “B” 1 | POLYURETHANE | DAEZS Z=H
14 o12Y 1 UR0|g &g | ZE ALUMITE
HEREUE
. o R z d J A C
¥ 012, 9162 4 PISTON, PISTON-BZ #2/¥ (mm)
% 012, 9162 42 o|=% Q12 END PLATE 12 M5x0.8—PL 12 M5 x 0.8 4 8 |92
% EHE717|29. M6X1.0-PL 16 M6 X 1 5 [ 10 [115
=) H|QE EfQ|-EtaZt TNT—02 20 M8x125 | 5 | 13 |150
TNT-03 25 MIOx125 | 6 | 17 [19.6
TNT-04 32,40 M14X1.5 8 | 2 |254
TNT-05 50, 63 M18x15 | 11 | 27 [31.2
TNT-08 80 M2x15 | 13 | 32 [37.0
TNT-10 100 M26Xx15 | 16 | 41 |473
o LIST/wet2E/S7|2(F=/)"
NO Z 9 ME| g12 716 @20 @25 @32 @40 @50 263 280 2100
GASKET NBR | C-10 C-14 c-18 Cc-22 Cc-29 C-36 C-46 C-60 C-75 C-%

PISTON PACKING | NBR | TPSA-12 | TPSA-16 | TPSA-20 | TPSA-25 | TPSA-32 | TPSA—40 | TPSA-50 | TPSA-63 | TPSA-80 |TPSA-100
ROD PACKING NBR | DYR-6K | DYR-8K |DYR-10SK | DYR-12 | DYR-16 | PDU-16Z | PDU-20Z | PDU-207Z | PDU-257 | PDU-30Z

~N O | O

274




HZEH(BEFYEH)/AQ2B, ADQ2B TCP1
T APM
=0 i —
or - H@e- ) TCM
@ @ 4-gNBS H LA $520 C
\ZAjaANZ 2x4-20 LAt a 5 ——
(3= ) e == T TCM2
QILIAR TYPE @7 g 3 S —
. ARD
5
AM2
e L \" AB+EEHY |
T AA+BEHY | TCA2
M+0.2 .
(220, 25) TCS1
TCS2
H1 i i TC02
=== S N I o B AV Y
(Z08mee) ADQ2CP
AQ2
ADQ2
AQ3
TCK1
TCK2
EEJE:LEI' ¢L}Af TYPE (B2 : mm) ACK1
Es0E | U Cl Hi X ABK,
12 14 9 M5%0.8 105 e —
16 15.5 10 M6x1.0 12 NSK
20 18.5 12 M8X1.25 14
25 22.5 15 M10x1.25 175 TGQ
NGQ
NGQHOR)
TGM2
TG
APR
:H‘_Z'._S%o:‘ (ZH2 : mm) TCRL
N ks Long Stroke AMR
rouz| 208 oeranes esaRxEn | Lo Tossemgs eH L1 | DN | K|E|M|OT ——
5 7 roke
AA|AB| L | Q| B|AM|AB| L | Q|B AA|AB| L | Q| B AMRBR
12 5~30 [205| 17 |35 |75 | 5 |315] 28 |35 | 11 |65 |35~50|455| 32 (135|756 |75 |24 | 6 [35] 5 | 32 |1565| 25
16 5~30 | 22 |185| 35| 8 | 55| 34 |305|35| 11 |55 |35~50|455| 32 (135|765 |75 (|2565| 8 |[35] 6 | 38| 20 | 29 NEP
20 5~50 | 24 |19.5| 45 |105| 55 | 36 [31.5] 4.5 |10.5| 5.5 ~ - - - - - - 10 | 55| 8 | 47 |25.5] 36
25 5~580 |275]|225| 5 | 11 | 55 (375325 5 | 11 |55 ~ - - - - - - 12 | 55|10 | 652 | 28 | 40 ADR
=z m c 0 % Long Stroke F71 Al2| 2= p.295 FZE ASL
= X QEALIX|7} gHe B @12-5 stroke, @20/25-5/10 stroke=
12 M3X0.5 6 6.5%0[ 4 EHO| HAIZE R QCEH| RHEQ]. NDC
16 M4x0.7 8 6.5%0(4 X RN 20| Z2 QYX|aE flo] HEYL S
20 M5x%0.8 7 9ol 7 X YT TYPES| 42 EHE p.301 &= NDM
25 M6x1.0 12 9Zl0|7
275

www. TPCpage.co.kr



AQ2, ADQ2 Al2|=

BEEY(2ETYEH)/AQ2B, ADQ2B

4—g NS

276

[.L_‘ 8— 6 O LIAFH2] Z0] *9-1 /(EE% 72) Fﬁ*
| 88—
3l
L AB +EZ HE
A +EZHY
% ¢ 32, 40,509 A<
L 7 L =
H1
C1
x =
1 -
|G
E—’-._Sgé (=42l : mm)
£s BE B
L & QEAQX Y= RQEAQX| F& C|D |EG H | |J|K|L|M|N|BO|W]|Z
Hel |AA[AB|B P Q |AAAB|B P Q
5 55| M5x08 | 115
30|23 10.5
@32| 10~50 75 Re(PT) 105 40 | 33|75 Ri(/zn 13|16 45| M8x125 | 60 |4.5| 14| 7 | 34 |5.5|920/7|49.5 (135
75,100 | 40 |33 |~ 1/8 ' 12.5
5~50 [36.5129.5 Re(PT) | 11 Re(PT) | 11 9207
46.539.5| 8 X1, .
@40 75,100 |46.5/30.5 8 8 m 18 1 13(16| 52| M8x125 | 69 | 5 | 14| 7 [40|55 57 |14
10~50 [38.530.5 Re(PT) | 10.5 Re(PT) | 105 1170(8
. 48.5]40.5[10.5 X1, X
@50 75,100 48.540.5105 4 1 14 1 15(20| 64 | M0x15 |87 | 7 |17] 8 |50|6.6 7|18
10~50 | 44 | 36 Re(PT) | 15 Re(PT) | 15 1420]
10.5 54 | 46 [10.5 X1,
263 75.100 | 54 | 46 4 155 1/a 155 15120 77 | M0x15 {103 7 |17 8 |60| 9 05 84 | 18
10~50 [53.543.5 Re(PT) | 16 Re(PT) | 16 17.520]

@80 12.5 63.5|53.5[12.5 2125|198 | M16x20 [132] 6 |22|10| 77| 11 222
8 75,100 |63.5/53.5 3/8 18 3/8 18 1 13 135 104
10~50 | 65 | 53 Re(PT) Re(PT) 17.520|

13 23 | 75(63|13 23 X2, ) 5222
@100 75,100 | 75 63 38 38 27130 [117| M20x25 [156]6.5| 27 | 12|94 | 11 a5 1235
X BAEZ3(101~300ST)2 22 p.295 X (BAEZT AZ|x)
EEEE =LA TYPE B+l mm) Sl=ES IZRES A2
FELHE C1 H1 L1 X SEUA G @Thg
@232 20.5 M14x1.5 28.5 235 @32 2 21 %o
240 20.5 M14x1.5 28.5 235 240 2 28 %
@50 26 M18x1.5 335 28.5 250 2 35 %
263 26 M18x1.5 335 28.5 263 2 35 %o
280 325 M22x1.5 43.5 356.5 280 2 43 %
@100 325 M26x1.5 43.5 35.5 2100 2 59 oo




zzxg/gs-s2c AQ2, ADQ2 Al2|=

ZES/A(D)Q2L TCP1
B12~225 232~@100 APM
TCM
L AB+EZEHY
L AB+EZHH ‘
TCM2
{77 W} % ARD
= ﬂ%:% k|
al T 1] W= s T AM2
S H H T 3 i i
}E T } JE*; - ﬂ TCA2
T B 0 1 [ =
5 N i TCs1
8-LM Bolt AC+HEEHE 4-LM Bolt AC+;¢3H7‘* L S
AA+EEHT AA+EEHE TCQ2
s | 4-1D = 7o ADQ2CP
‘ e
AQ2
@ @ ADQ2
,E,, ”} JE" Wﬂt AQ3
olu| 1| gls ] TCK1
9|5 ‘ ‘ I TCK2
JE” ”ﬂt {* *ﬂt ACK1
& P b & ABK
ABK2
$M LJ| LK
NSK
A ErAZE (EH2] :om)
= TGQ
go | EE =d
L ks REAQX| QS | QEAQXIFA | L | L1 | LA | LB | LD |LF|LG| W LM LK | LS | LT NGQ
@) | 4 A | AB | AC | A | AB | AC | NGOMIY
5~30 353 | 17 5 463 28 16 TGM2
12 3550 503 | 3 20 1503 32 | 20 135 24 | 17 | 295 | 45 | 34 | 44 | 45 M4x0.7 8 2.8 2 TG

5~30 3.8 [ 185 | 65 | 488|305 ] 185
16 3650 503 32 20 (503 2 | 2 135|255 | 19 |335| 45 | 38 | 48 | 5 M4x0.7 8 | 28| 2 APR

20 5~50 N21195| 75 532|315 195 | 1452856 | 24 | 42 | 66 | 48 | 62 | 68 | M6x10 | 92 | 4 | 32

TCRL

25 5~50 447 1225 | 75 | 547|325 175 | 15 | 325 | 26 | 46 | 66 | 52 | 66 | 5.8 | M6x10 | 107 | 4 | 32

5~50 412123 | 7 AMR
75100 57033 | 17 572\ 33 | 17 | 17 | 38530 | 57 |66 | 67 | 71 | 58 | M6x1.0 | 11.2| 4 | 32

5~50 53.7 1 29.5 | 135 AMRBR
40 75,100 637 1305 1235 63.7 1395|235 | 17 |385| 33 | 64 | 66 | 64 | 78 | 7 M6x1.0 | 112 | 4 | 32

32

10~50 [ 567 |305 | 75 NP

50 510 667 [dus [175] 067 |905|175| 18 |45 30 |1 | 9 |70 o5 | 8 | wex125 147] 6 |32 | NP
10~50  [622| 3 | 10 —

63 |50 720 g |20 22| 46 | 2 | 18 |45 46 [915| 11 | 95 | 113 | 9 | MIOXI5 |162] 5 |32 [0
1050 | 75 |435 [ 135

80 7570085 T535 (235 © | 595 (25| 20 | 85| 89 | 114 | 13 | 118 | 140 | 11 | MI2X175 | 195 | 7 | 45 P
10~50 | 88 | 53 | 19

100 75100 B 63 [ 9 | 63 | 29 | 22 |535| 71 | 136 | 13 | 137 | 162 | 125 | M12X1.75 | 23 7 6
% 375 H& MRICio| 29 ATYPE TUBEZH 7|29, NDC
5 B719] FI4E BE M2I) 2149 SUgt
3 X[ B0 HEICIS 241 SR AL D152 MR,

% BAE23(101-300ST)2| 29 p.295 % (B2E23 Al2lx)

NDM

277

www. TPCpage.co.kr



AQ2, ADQ2 Al2|=

ECX SX|/A(D)Q2F

@12~025 2-QFP
2-@FD FT
E}mgi . — |
o2 @ ¢Sl Ee B = _
ggfl‘fﬂg} F
FE L1 L AB+STROKE
E(Z AA+STROKE
?32~@2100
2-@FD FT
2-QFP ‘ ‘
@@3(##\7@% = = |

©
o
|
1
e
i
x
i
x

4

I

;

°
|

i
|

FM L1 L ‘ AB+STROKE

FG
WESHEPST (k21 :m)
g2 | =EE Ez9d
Wd | #" |esaqxgis|esA9A e L | L1 | FB | FD | FP | FE | FF | FG | FM | FN | FT
(2) Ch A | AB | AA | AB
5-30 | 305 | 17 | 415 | 2
2 2% 05 LT NS B g5 | a4 | 55 | 45 | 31 | @ | 45 | 55 | 155 | - | 55
530 | %2 | 185 | 44 | 305
6 %0 2 85 M IO i35 |5 | @ |45 |31 | o | 45 | 5 | 0 55
20 | 550 3% | 195 | 46 | 315 | 145 | 285 | 39 | 66 | 31 | 28 | 48 | 60 | %5| - | 8
25 | 550 | 375 | 225 | 475 | 325 | 15 | 325 | 42 | 66 | 41 | 34 | 52 | 64 | 28 | - | 8
32 |0 80 1 B | 5 | a3 | 17 | 85| 4 | 55 | 41 | - | 56 | 65 | 3 | 3 | 8

75,100 50 33
5~50 465 | 295
40 75,100 s o5 ] 95 | 395 | 17 | 385 | 54 55 | 41 = 62 7 40 40 8

5~50 485 | 30.5

50 75100 s5c o5 | 985 | 405 | 18 | 435 | 67 | 66 | 5 - 76 89 50 50 9
1050 | 5 | % -

63 75100 o i 64 46 18 | 435 | 80 9 5.1 %@ | 108 | 60 60 9
1050 | 635 | 135

80 [yt e W5 | 55 | M |55 | 9 | A1 | 61 | - |16 |1 | 7 [ 7|

100 100 | 7 | 88 [ oge | g3 | o | se5 | M7 | 1| 61 | - | 136 | 154 | 94 | 94 | 1

75,100 85 63

X g7 £5 deine| 39 A-TYPE TUBEZH 7129,

X E7|Q| x|E BE HRIT X0t SUR

X HIE S04 Helriet 24k Seu|as 0127 ey,

% SAERA(101~3008T)2 22 p.295 = (BAERT M2(X)

278




S== Z3WXIH/A(D)Q2G TeP
APM
@ 1 2"’@25 2-@FP
2-@FD TCM
| = AT
- ‘ ‘ | 3 O TCM2
\l\ i’ E m
- e — 1 ’@%E*Jr* : 5e ARD
- N A
] h }Juﬁ Z AM2
L | AB+STROKE FT FE
AA+STROKE FF TCA2
FG TCS1
TC52
?32~0100 —
2-@FD TCQ2
Z_QFP P
R\ ! L 1= ADQ2CP
_«\ } } B @_@yj | ﬁ\/rf()\ d | AR
— 3\ Y AQ2
] ‘ ] ADQ2
— I ———————— il _ _ Z|l o
= %g | Lo E AQ3
| | ———
P \ [wawa
— | p : ﬁm A TCK1
—\ | A Jf”ETI”‘&y ~ [TCK2____
L ACK1
L AB+STROKE lFT Ceu
AA+STROKE - YT —
G ABK2
NSK
W A (421 :m)
- _ TR TGQ
so | =z =28
Wz | #% |eErdxgS|esAxes| L | L1 | FB | FD | FP | FE | FF | FG | FM | FN | FT [NGQ
(@) | el | B | A | A8 NGQpiEY)
530 | 2 | 17 | 37 | 8 | 35 | 14 T6M2
" e [ st [ @ [ 51 | % |35 | a4 | O |45 |3 | B |4 | B 1S - |55 |16
5-30 | 275 | 185 | 395 | 305 | 35 | 155
" 3550 [ 51 | %@ [ 5 | % [ 135 |55 | X |40 |8 A 4B D - 55 ppR
20 | 50 % | 195 | 44 | 315 | 45 | 185 | 39 | 66 | 31 | 28 | 48 | 60 | 55| - | 8
TCRL
25 | 550 | 355 | 225 | 455 | 325 | 5 | 25| 4 | 66 | 41 | 34 | 52 | 64 | 8 | - | 8
5-50 B | B AMR
2 e B | ® | 7 | @5 @ |55 | 41| - |8 |65 | % | % | s
5~50 445 | 295 B AMRBR
0 e e | %45 | 95| 7 | 25| & | 55 | 41 60 | 72| 4 | 40 | 8
5~50 475 | 305 _ NP
50 |y ere f e | 575 | 05| 8 | k5| 6 | 66 | 51 BERERERERTS
1050 | 5 | 3 ==
8 e o] © | © |8 |®s5| w0 5| - @ || 0| 0| [
go | 1050 | 645 | 435 | oyplsas | 10 | 435 | 9 | M | 61 | - | 116 | 134 | 77 | 7 | M
75900 | 745 | 535
oo 1076 |8 | g | o | 12 las| 17 | 11 | 61 | - | 1w | o4 | o | o | 1 Lo
75100 | 86 | 63 : :
% 375 H& MRICio| 29 ATYPE TUBEZH 7|29, NDC
X E719| Al4 BE el x40t 528,
X A B HEIciel 241 SefelAE DIAR el
% EAEZA(101-300ST)2 42 p.295 X (BAEZ D A2|X) NDM
279

www. TPCpage.co.kr



AQ2, ADQ2 Al2|=

24F 22fH|2/A(D)Q2D

d12~025
cr 4-CM Bolt .
@CDH10 /\ /\
: e
L1 CE ‘ CX oz
L AB+EZHH CF cB [
A+EZHE [1CG
?32~0100
%T 4-CM Bolt
} i @CD H10
I
| )
|
-
1]
CE
L AB+STROKE cF |cB
AA+STROKE
A @10~ @25 e 2t B32~3100— %A (4] )
= - RS
Wz | ™ |esegis|esAaened| L | L1 | o8| CE|CFlca| oM cD cr | ox | ov | 2
(2) Ch A | AB | Aa | B
5~30 | 405 | 17 | 515 28 | 35 | 14 005
"2 550 es5] @ |5 @ |16 24| 0 | T | M| B | mx07 |5 A5 e
530 | 43 [ 185 5 | 305 35 | 155 1005
" —35 80 865 3 [665] 52 |85 b5 ° | 10| 15| B | Mx07 | 5 v Bl
20 | 5-50 51 | 195| 63 |315| 45 |185| 9 | 12| 18 | 36 | M6x1.0 8+8'06 51 8| 16|
25 | 550 [575| 225|675 35| 5 | 25| 10 | 14| 20 | 40 | Mex10 | 10 *8'06 5 | 10| 20 | 2
550 | 60 | 23 T0.06
2 im0 | 0| % | 7| B85 10 14| 2| 4| Mexto | 100 5 | 18] 3 | -
550 | 685 | 295 0,06 B
40 e 85| 5| 7 |285( 10 | 4| 2| 82| Mexto | 107 6 | 18 | 3
10~50 | 805 | 30.5 007 B
50 00— Topsdoe| 05| 05| 8 |®5| 14| 0| 2| 64| Mexis | 1470 7] 2| u
10~50 | 88 | % 0,07 B
63 —eror—T o 5| B | | & 85| 14| 0| @ | 7| woxis | 147 8 | 2 | 4
10~50 |1005] 435 0,07 B
80 | o100 Ti1os  dae|1195] 535 | 10 | 35| 18 | 27 | 3 | o | Mix175 | 1870 10 28| 56
1050 | 132 | 5 T0.084 B
100 —2i00— T o] 12| 6 | 12 45| 2 | 3 | 45 | 07| wxiss | 2 13 | 32 | 64

X g7 £5 deine| 39 A-TYPE TUBEZH 7129,

X E7|Q| x|E BE HRIT X0t SUR

X HIE S04 Helriet 24k Seu|as 0127 ey,

% SAERA(101~3008T)2 22 p.295 = (BAERT M2(X)

280




zzg/es-Hzc AQ2, ADQ2 Al2|=

1 LHE =0IE TCP1
M e R —
MM M1 @TDHI0 s a3 APM
j\ N B u| A | B C|E || MM [M1|@TDHIO| TX
g \ }\ /[ E 1 \ Q-012| 12 |215| 16 | 25| 7 | 10 | M5%08 | 6 | 5 "3 | 5 52 TCM
N 4 Q-016| 16 | 32 | 25 | 3 | 14 | 12 | M6x1.0 | 8 | 5 *3% | 64 202 TCT
E N Q-020| 20 | 34 | 25 | 4 |11.5| 16 | M8x1.25 |85 | 8 3% | 8 33
B +0.058 02 R
= QI-025| 25 | 41 | 30 | 5 | 14| 20 [M10x1.25/10.5| 10 *§®°| 10 5§ | ,on
QI-032 32,40 42 | 30 | 6 | 14 | 22 | M14x15 | 14 | 10 3% | 18 33
— +0.070 -0.3
2A} L2 XOIE QI-050 [50,63| 56 | 40 | 6.5 | 20 | 28 | M18x1.5 | 18 | 14 *0 | 22 3% | pyo
Q-080| 80 | 71 | 50 | 8 | 27 | 38 | M22x1.5 | 21 | 18 *9070 | 2g 03
F12~316 i R QI-100 | 100 | 79 | 55 | 10 | 31 | 44 | M26x1.5 | 21 | 22 *G% | 32 08 | TCA2
MM —— I
M e —
= TCS1
A R TC52
=il ME:@12~@25-Et4Z, §32~0100-F2 &)
[CEE m—— TCQ2
o Ed |\uo|A|B|C|E|G|F| MM |[M1|@TDHI0| TX |TY|7Z
A
@20, 925 av-012 | 12 215/ 16| 6 | 7 |@12] - | m5x08 | 6 | 5 58] 5 :94 | 10[146 |ADG2CP
MM _@_ 2TDH10 +0.048 104 —_———
= QY-016 | 16 28| 21 | 8 | 10 |@14] — | M6x1.0 | 7 | 5 “5*°|65103 | 12 |166 [Aq2
A 7;7\; [ QY-020 | 20 | 34 | 25 | 9.5 |11.5@18| 16 |M8x1.25| 85| 8 *5°°| 8 104 | 16|21 |ADQ2
X -
T : Té& Qv-025 | 25 [ 41| 30 | 12 | 14 [@22] 20 |w10x1.25/105] 10 7G| 10133 | 20 |266 [0
s QY-032 |3240| 42 | 30 | - | 14 |@22] — |M14x15] 16 | 10 *5%8| 1893 |36 (416 L
B QY-050 (50,63 | 56 | 40 | — | 20 (@28 — |M18x1.5| 20 | 14 *9070| 22 *05 | 44 |50.6 ;gﬁ;
339~2100 A QY-080 | 80 | 71 | 50 | — | 27 |@38] — |M22x1.5| 23 | 18 *0070| 28 0% | 56 | o4 ——=——
M ZTOHIO QY-100 | 100 | 79 | 55 | — | 31 |@44| — |M26X1.5| 24 | 22 *008¢| 32 05 | 64 | 72 | ACK1
’_ e —
AT ABK
N N : ABK2
(an) | =F|5 WA e Y I
| = NSK
{ zw A8 @Dd9 L1 L2 P w B |H8aud
L2 (m)
e ap-012| 12 5 008 146 | 102 | 15 | 07 | 47 |zzcas |T6Q
A QP-016| 16 5 0% 166 | 122 15 0.7 47 | %8C%5  [Nea
QP-020| 20 g 0% oA | 162 | 15 09 | 75 |=scys | NGQUIRY
20 LS ZEOIE Tl [ 201 SefH|A Bl el IS 10 5%%0 | 256 | 203 | 15 | 115 | 94 |58c80 [TGM2
QP-032| 32,40 10 2555 M6 | %3 | 15 | 115 | 94 |ssczio 16
P W W P
t — T QP—050| 50,63 i e 506 | 43 | 205 | 1.5 | 131 |58C¥4 | pApR
- QP-080| 80 18 23059 64 | 563 | 255 | 135 | 168 |58cH18
3 :
8|5 QP-100| 100 22 =5t 72 643 | 255 | 135 | 208 |=8Cc¥2 |TCRL
L+—l AMR
THA B (i)
_ EEREE AMRBR
= L4 (om) d J A © T R
M5 0.8—PL 12 M5x0.8 4 8 9.2 NBP
M6x1.0 —PL 16 M6x1.0 5 10 1.5 —
TNT—02 20 M8x1.25 5 13 15 ADR
TNT-03 25 M10%1.25 6 17 19.6 ASL
TNT—04 32,40 M14x1.5 8 22 25.4
TNT-05 50,63 M18x1.5 1 27 31.2 NDC
TNT—08 80 M22x1.5 13 32 37.0
TNT-10 100 M26% 1.5 16 41 47.3 NDM
281

www. TPCpage.co.kr




Order Made A2 Y AQ2 Al2[=

AL MEAIS HH S AN —10mmItR| 7HH 20| Az RN WHE 0~ —10mm7TIK| ZHEE o5 2=
St ol #HoZ JHAXY S HEtL|Ct
ES0M Y ZYI|FE HR|, EHE WY 2F S HELIC
HA7|S HAJ|E
B ‘@ ‘ A
s :% ! ™ 77
o V7777777727777 ] ——
}—xc;tlg‘rl Lo I:lTl
g A DA Ea9E ERE DIAEIRE
SEUAE @32, 40, 50, 63, 80, 100 SHLA @25, 32, 40, 50, 63, 80, 100
pN==1=]N| 2 = REE=HFAL 2 =
oo hal o —Too hl o
MNBFH 3 7l A=A = 7
&5 78 9] STOPPER %) a7 = g =4 2E 79
A AF He| 10 mm A ZF HQ| 10 mm
% & 25 7Y s & 2E FY(ED), I
7 4 o g 7 4 ¢ s
BN ERIE @12:0.07 MPa, @25 : 0.05 MPa E|K ALS 4 0.05 MPa

AB+EE ;[‘MT’L%‘!@ !
AA+2 () MA L AB+EY BL
AA+ET)
HEY (2421 mm) By (29l : mm)
MR QEAIR|of2| 0 EAYR| A MR | @ EAQIR|f 2 Q EAY R B
w2 t,lg o [ A ll‘ué vy ! lA-IFB L |[MT|ML|MK| G |MA FELE ;:I_' -?—|o A l /l;é A | lAE L | BL BM
12 5~30 |57.7|25.6|/649| 32 |35 5 |19] 8 | 14| 11 12 5~30 |526]256| 59 | 32 | 35 |23.5 | M5X0.8
25 5~560 711129 |81.3] 39 | 5 | 8 225/ 10|20 | 17 16 5~30 | 53 | 26 | 63 | 36 | 35 |23.5| M6X1.0
32 5~50 |78.5/30.5(88.5(405| 7 | 6 |26 | 14|27 |24 25 5~50 [635] 29 | 735| 39 | 5 |29.5|M8x1.25
40 5~60 | 88 |40 |98 |50 | 7 |6 |26 |14 |27 |24 32 5~50 |655]305|755|405| 7 | 28 |M8X1.25
50 5~50 [100.5/40.5(110.5/50.5| 8 | 8 |30 | 16 | 35| 30 40 5~50 | 84 | 40 | 94 | 50 | 7 | 37 |MI2X15
63 5~60 |102| 42 |[112| 52| 8 | 1030 | 16| 35|30 50 10~50 | 84.5]|40.5|945|505| 8 | 36 |MI2X1.5
80 5~60 |125| 51 |135] 61 |10 |12 38|20 |48 | 4 63 10~50 | 88.5| 42 | 985 | 52 | 8 |38.5 | MI6X15
100 5~50 [138.5/60.5(148.5/70.5| 12 | 14 | 38 | 20 | 48 | 41 80 10~50 |109.5] 51 |119.5) 61 | 10 |49.5 | M20X1.5
% SEAIIRIII A= HS P55 soko E50| HAEES 100 | 10~50 | 125 [60.5] 135 | 705| 12 | 525 | M20x15
OfCIENO| RHEE, # QLEARIX| 7L Qe 4R 025-5stroke= REC| FEZEEE
% UTHH TYPES| 2P T X1 p.301 &E. o] 2ASE.
# M & strokei= 5mm 2 Y. % UTHH TYPES| B9 = XE p.301 &Z.
¥ @202 TCQAE| X ME(p.195 &%) # M & stroke= 5Smm ZH4 Y.
# @202 TCQ2AIZ| = HE(p.195 FX)

310




Order Made H|ZIAIY AQ2 Al2[=

DUAL X AIRIL/U==3 DUAL #ZABIH/HECH TeP
AQ2B (EEUZ {85 )+(#8S) D(C) M-XC10 AQ2B (EEUZ (8351 + (88S2-S1) DM)-XxC11 | APM
270e] A sl EHHE YA|Stoto] dEir Y =0 HEY 270el AEHE Mz o, M55 A2l 3y s gl HEr TCM
3THA| Mo &L . 2CHA| M|Oo{st= 20| 7%s°% ZZO| AYFAOf 2di2] A2
s32 28 4 AsLith
Al 7| TCM2
Ils
° 1 ® U @ zeo) osf =7lae 225k | ARD
0o @ ] stseommol saEUc,
0, 0O ZE0 o8l 37|¢s 335t s2 9% BEE] AM2
= — H,8, S5 YHY 2 FRFLICH 00 U =0 o5l F7|ts S5t
py py— @ 10 30 o S1 A He F0|| 26o| 0|
E'I—IEL TCA2
£ i ®, 0 =0 25 37|s 3t © e
i— = 2 _g_bi_ -
= oSSl AEHUC ® £=0] 2po 3712tS SEotH 2 | TCS1
- = << E=S2-S1 HYESELCH TCS2
@ ®© o ZE0| olsf B7|Ue 2251 2
EZ?E o wmol s oo gs SEE IR e
— = B, S #HO| FSELICH —
ADQ2CP
@? ® R
9, ® ZE0| o5l 37|s 3t AQ2
Ao ER DINEERE AQs
EYETTE @32, 40, 50, 63, 80, 100 ToKl
g 4 FaE® S 5 & TCK2
o $ a1 -
CY=EZ] 932, 340, ©50, 963, @80, F100 AEFA s 7l
A EafAl = = = = s 7Y ACK1
A2 A z 7 AE &5 50 ~ 500 mm/s ABK
FHIE4Y 45TY ABK2
T/ R +E e —
AX/QIHAISE . N NSK
aS #S E% ‘ ‘ % 7TGQ
i E =] Y e
—— A =T 4 NGQ
NGQHOR)
YVIVV e == 16
L ! AB2+#F (S2) ! AB1+#7H (S1) ‘
AA+HT (51+52) ‘ APR
L| AB+#ES | AB+#HES |L ‘
AA+EH (S +S: - =
e e @si - mm RCL
EEINE AR AB | AEEE ey | AE® | esasmmg | e=aemRH [ |AMR
(mm) [ 50st 0I5t 75, 100st | 50st O[3t | 75, 100st s.5 59 ©9/(51,52) | AA | AB1 [ AB2 | Aa [ ABT | AB2 e
32 | 60(80) | 80(80) | 23(33) | 33(83) |7, . o 12 5~30 4.1 | 17 | 256 |635| 28 | 32 | 35 |AMRBR
40 73(93) 93(33) | 29.5(39.5) | 39.5(39.5) | 7 16 5~130 48 1185 | 2% 70 | 305] 36 | 35
50 | 77(97) | 97(97) | 30.5(40.5) [405(405) | 8 2 5250 @ [195] 2 | & [a15] % [45 NP
63 [s8(108) [108(108) | 36(46) | 46(40) |8 | . o 550 |55 25| 2 |75 | 25| 3 | 5 Ler
o Lot gt | oisg s o (o[ o [ws ous [ [ws| T [wm
) 5~100 | 765|205 | 40 [ 965 395]| 50 | 7
3 Of X QEAS Hxto| A0l |
e e s e e 50 5~100 | 79 | 305 | 405 | 99 | 405|505 | 8 |ASL
R A p.298 Ez 63 5~100 88 | 34 | 42 [ 106 | 46 | 52 | 8
80 5~100 |1045| 435 | 51 |1245|535| 61 | 10 | NDC
100 5~100 |1255| 53 | 605 |1455| 63 | 705 | 12
¥ & stroke= 5mm 243, NDM
311

www. TPCpage.co.kr



Order Made H|ZIAIY AQ2 Al2[=

AQ2/TCQ2 Al2|= &S AtE ORDER MADE

A [ #s EAIS NETTE
® -XR0~XR38 EEIChEAHY
® | -xc8 I AR (M EA 25 )
® | -xco I P AR (FRA 25E)
@ -XC10 DUALHEAEIL/UZEY
AQ2 75T et DUALEF A/ B =
® | -xe02 HEAI4E 7| ENE e 52 A4
@ | -x03 ZESHOIN (A48 7| ZAZ =9 52 A+
-X163 COIL SCRAPER LW ZH(TUBE Mg 20| 571)
2E B0t M MA(p.738 E#X) -XR0~XR38 TS717|2t AEEEEH FAHAR AT ISH L)
TcQ2 (ZAZIZS] HABAE ) X Nelz P s
SCECIMA T 7|58 EA ey | 1002 s
=Y —XR0~XR38
B ~ o TCQ2 | TCQ20-S =Rz
AQ2Zt Al2IZo| BES| 2EBEHEA0| CfsiA T3} B

+ SOl §l= Rl SAL BORRlE
+ US| xEA| R=, 2EZ(D)E ~1mm KMelebth

RY47| T BRI K48 7 (Yt FHAIR.

312




Order Made H|ZIAIY AQ2 Al2[=

COIL SCRAPER (METAL SCRAPER) TYPE —x163 [k
APM
ADIQ2B(A) — (FEUZ) — (Maid #F) (HSUA ) (BHAKY) — (2SIXIAKY) — (X163) TCM
TCM2
Metal Scraper ARD
His AlZIC| BODY AR 4 B
LA 40 50 \ AM2
Etol A O B B O N - I B B ] TCAZ
[l | +X163 | Ef2l | +X163 | Efl | +X163 | E | +X163
10 | 395 | 495 | 495 | 595 | 405 | 505 | 505 | 60.5 E Tes1
15 | 445 | 545 | 545 | 645 | 455 | 555 | 555 | 655 % j/ — TCS2
20 | 495 | 595 | 595 | 695 | 505 | 60.5 | 605 | 705 I
25 | 545 | 645 | 645 | 745 | 555 | 655 | 655 | 755 TCa2
30 | 595 | 695 | 695 | 795 | 605 | 705 | 705 | 805
35 | 645 | 745 | 745 | 845 | 655 | 755 | 755 | 855 } o Abazcp
40 | 695 | 795 | 795 | 895 | 705 | 805 | 805 | 905 N ———— AQ2
ST| 45 | 745 | 845 | 845 | 945 | 755 | 855 | 855 | 955 ADQ2
50 | 795 | 895 | 895 | 995 | 805 | 90.5 | 905 | 100.5 —
51~65| 1145 | 1145 | 1145 | 1145 | 1155 | 1155 | 1155 | 1155 AQ3
70 | 1145 | 1395 | 1145 | 1395 | 1155 | 1405 | 1155 | 140.5 <
75 | 1145 | 1245 | 1145 | 1245 | 1155 | 1255 | 1155 | 1255 TCK2
76~90| 139.5 | 139.5 | 139.5 | 139.5 | 1405 | 1405 | 1405 | 1405
95 | 1305 |H=20|| 1305 |E=20l| 1405 |B=20 | 1405 |Hz2o) ACK1
100 | 139.5 | 159.5 | 139.5 | 159.5 | 140.5 | 160.5 | 140.5 | 160.5 ABK
-E 63 & 100 |ABK2Z
O L I T L I O R I B s N NSK
EfRl | +X163 | Ef | +X163 | Efl | +X163 | Ef | +X163 | EMI | +X163 | ERY | +X163
10 46 56 56 66 535 | 635 | 635 | 735 63 73 73 83 160
15 51 61 61 71 58,5 | 685 | 685 | 785 68 78 78 88 I
20 56 66 66 76 635 | 735 | 735 | 835 73 83 83 93 NGQ
25 61 71 71 81 685 | 785 | 785 | 885 78 88 88 98 | NGQWpRY
30 66 76 76 86 735 835 | 835 | 935 83 93 93 103 TGM2
35 71 81 81 o1 785 | 885 | 885 | 985 98 108 108 118 16
40 76 86 86 9 835 | 935 | 935 | 1035 | 103 113 13 123 APR
ST| 45 81 91 91 101 885 | 985 | 985 | 1085 | 108 118 18 128
50 86 96 9% 106 935 | 1035 | 1035 | 135 | 113 123 123 133 TCRL
51~65| 121 121 121 121 128.5 | 1285 | 1285 | 1285 | 138 138 138 138
70 121 146 121 146 | 1285 | 1535 | 1285 | 1535 | 138 163 138 163 AMR
75 121 131 121 131 128.5 | 1385 | 1285 | 1385 | 138 148 138 148 R
76~90| 146 146 146 146 | 1535 | 153.5 | 153.5 | 153.5 | 163 163 163 163 AMRBR
95 146 |€z2o| 146 |Ez=o|| 1535 |HE2ol| 1535 |#Ex=o| 163 |€z2ol| 163 |ZEE=9
100 | 146 166 146 166 | 153.5 | 1735 | 1535 | 1735 | 163 183 163 183

NP

NBP
7 [=ER 1 AQ2B*—+D(M) e —
712+X163 1 AQ2Bs—=D(M)-X163 —
THAERR] :ADQ2B*—*D(M) ADR
KHAIEII+X 163 :ADQ2B*~+D(M)-X163
©)Z2]: 51~74,76~99 °| EIRIO| ME 0| 2 AZBHH EIQIS 5 st T2 F|E0| 7K BLICh
)Y AES T ER AT AL MEIE EHF0) XNS 241 B |6 ZAID H7 = 152 Lch ASL
*)95ST 2 B2 H AES XNS EtUC 20 K0 7hs LT (AT RHHELR] S| AR)

NDC

NDM

313

www. TPCpage.co.kr



